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Algebra 1: Unit 4 Notes

Part 1
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Unit 4, lesson 2: Factoring and Solving a Quadratic T M
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Part 2

Generalizations when factoring ax? + bx + c ..{whena=1)
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Algebra 1: Unit 4 Notes ‘ T J
T: Fill out factoring Packet first then factor the following polynomials. ;

d. x® +20x* +36x,
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a. One way the area of a rectaggle is represented is by x2 4 4x + 3. What are the dimensions of the

rectangle?
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b. Suppose the area of the same rectangle is 15 square units. Write an equation that can be used to
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Quadratic equations can be set equal to
tic (O fa number to solve. However, by setting it
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Algebra 1: Unit 4 Notes ' to solve uadratic equations

= tPrope , o T
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Exit Ticket: x% —13x — 14
x2—13x—-14 =0

In what ways are these similar? How are they different? g

Scanned with CamScanner



